Soustraction Paques (E)

Obtenez un agneau pour chaque réponse correcte. Agneau obtenu: /25
267 244 97 149 259
-170 - 54 - 33 -118 - 145
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- 22 -120 - 33 - 140 -37
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273 371 366 188 62
- 109 -193 - 193 - 124 - 28
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117 350 199 204 213
-0 - 162 - 33 -79 - 106
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Soustraction Paques (E) Réponses

Obtenez un agneau pour chaque réponse correcte. Agneau obtenu:

267

-170
97

244 97 149
- 54 - 33 -118
190 64 31
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132 305 70
- 26 - 138 - 36
106 167 34
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126 119 168
-120 - 33 - 140
6 - 86 28
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371 366 188
-193 - 193 -124
178 173 64
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350 199 204
-162 -33 -79
188 166 125
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